HEFE

§ 1 XOERM - AR

10.

11.

12.

13.

14.

. ROXZFEBHAET &K, (x2+3x+2)(x2-3x+2)

(2002 REREFRK)

. RORXEEREAE L. (x-3p)(x+3y)(x2+3xp+y2)(x2=3xp+y?)

(1996 LUEZRHEKR)

C(xPHxy Y2+ (x-y) A xty)ERRAE L

(2008 LLFAZK)

(T x=-x2=-x3)(1-x—-x2+x)ZFERE &,

(2004 BEHERFEKX)

(x4 (x2-2x 42 (x P+ 2+ 2 EERRE K.

(2003 KEREEFEK)

. ROKXZEZEBEE &K, (a+b+c)2=(b+c-a) +(c+a-b)*-(a+b-c)?

(2000 =R X)

. 2x2 4+ 5xy+3y?-3x -5y -2 FEHMAEE &,

(2010 R#PEFRK)

. 2x243xy-2p2+ 5y -2 R EE K,

(2011 REPEFRK)

.atta*h-a(ct+b2)+bc?-b =R HEE K,

(2006 #E@EX)
a’+a’-2a-a’-ab+2b TR EE K,
(2003 fAHIEX)
a*(y=-b)-(a+b)xy+ab(x+y)+b2(x—-a)ZRABIEE &L,
(2004 1BREZE X)
(a+b)x>-2ax+a-bZEABHELE L,
(2006 JtimFEX)
ax’=(a’+2a-1)x-a-2 R EE X,
(2004 ZEX)
x2=2xy-3y?-5x-y+4 EERYAEE &K,
(2008 £RIEXK)



15.

16.

17.

18.

19.

20.

21,

22.

23.

24,

25.

26.

21.

28.

29.

x4+ 2xy2-x2+4y2-xy-x -6y +2 TR EL K,

2x2=5xy - 3y2+Tx+ Ty -4 TR EE K,

3x2+y2+dxy-TIx-y -6 TERHMAEE K,

2x2=5xy-3y2+x+1ly-6 TR EE &L,

x(yr=z2)+y(z2-x2)+z(x2-y TR D EE &,

a’h- a’c+b2a—-c2a+ b - ERYHEE L,

(x2+2x-30)(x2+2x-8)- 135 ZRAMHHEE &L,

(x=4)x-2)x+1)x+3)+24 ZRAMDEE &L,

x(x+1)(x+2)x+3)+1 ZERHDEE &,

(x+1)(x+2)x+3)x+4)-3 ZRABIEE &L,

(x+1)(x+2)(x+3)x+4)-24 ZRHDEE &,

(x+3y=1)x+3y+3)x+3y+4)+ 12 ZFRAFH L L,

xt+4 ZRBORE L,

x4 +5x2+9 RS FEE K,

a’s— a*?(a-b)-bSEREBHRE &K,

(2004 REREFRK)

(2007 BRREHK)

(1991 JLiBERERK)

(2003 ZEHFRK)

(2001 ERE®BEX)

(2008 ERK)

(2008 dtiBZFEX)

(2006 EFKX)

(2004 #2LX)

(1996 N EREBK)

(2001 FFWLZHREKX)

(2007 REREFRK)

(2006 HmXK)

(2008 #%MEEITEIK)

(2006 ABEAKK)
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1. XORR - B¥H iR

. x*-5x2+4
CxT—x3-xdptayT

§
1
3
5.
7
9

x8-16

(2 +3y+1)(x+y—2)

. (a-b)a+tb+tc)a+tb-c)
1.
13.
15.
17.
19.
21.
23.
25.
217.
29.

“(atb)x-a)y-b)
(x—a-2)(ax+1)
(x+2)(y=1)(x+29-1)
(x+y=-3)x+y+2)
(x=y)y=2)z=x)
(x+7)x=5)x+3)(x-1)
(x2+3x+1)?
x(x+35)(x*+5x+10)
(x2+2x+2)(x2-2x+2)
(a+b)(a-b)a*-ab+b?)

. x0=16x%2+ 64x2y* -9y

1-3x2+3x4-x°

. 8ac

o (2x+y-2)x-2p+1)

(a+2)a-1)a—-b)
(x—1)ax+tbx—a+b)
(x+y=-1)(x-3y-4)
(x=3y+4)(2x+y-1)
(x=3y+2)(2x+y=-3)
(b=c)a+tb)a+c)

c(xF2)x-3)(x2-x-8)

(x2+5x+3)(x2+5x+7)

c(x+3y)(x+3y+S5)(x+3y+1)

(X2 x+3)(x2-x+3)



